60. A 70-N block and a 35-N block are connected by a string as shown. If the pulley is massless
and the surface is frictionless, the magnitude of the acceleration of the 35-N block is:
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22, Which of the curves on the graph below best represents the vertical component v, of the
velocity versus the time ¢ for a projectile fired at an angle of 45° above the horizontal?
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A dart is thrown horizentally toward X at 20m /s as shown. It hits Y 0.1 s Inter. The distance
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74. Consider the following five graphs (note the axes carefully). Which of these represents motion
at constant speed?
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Suppose A = BC, where A has the
dimension L/M and C has the
dimension L/T. Then Bhas the

:dimension

™ QO

L2/TM
TM/L2
L2T/M

M/L2T
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72. The graph represents the straight line motion of a car. How far does the car travel between
t=2sandt=5s?

v(m/s)
12

A. 4m
B. 12 m
C. 24m
D. 36 m
E. 60 m
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